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Chapter 11, Solution 63.

PROBLEM SET #26

Let S=8,+5,+8,.
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Chapter 11, Solution 74.

(a) B, =cos”(0.8) = 36.87°

Q, =8, sinb, = (30)(0.6) =18 kKVAR
§, =24+ I8 kVA

B, =cos'(0.95)=18.19°

= cosB,  0.95
(, =5, sinb, =13.144 KVAR
S, =40+ )13.144 kVA

S=8,+8,=64+j31.144 kVA
0= 1.::1.11'1(&4—4]- 25.95°
B 64 )T

pf = cost = (.8992

(b) 0, =2595°, 0, = 0°
Q. =P[tanf, —tan0, ] = 64[tan(25.95°)-0]=31.144 kVAR
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= 5.74 mF

or
Q]Lﬂca.ci.s <P Cﬁ}z_ - 3l 19 kvAR

"J-

~ e 5_ I(J.prr; 6'!.-4._-,‘} = f.;:-.,s_ i(lk} = ) )

OF des
wties = ’e-a'-'r--'-!' g Tea I:"{}J‘f}fﬁ’c-r._q = Tolw e, [I.'{".) = O
({:J‘f‘f, N G'—}L-::-nr.ia' + If-:’rl‘lr:‘_‘ 2 If;:‘i % _q’j‘—ﬁ“t}.( = = F LAY jewAR
q,'r k) € Jff&; = 5w (emee) C jrgaw-ﬁ,-f = - 3l Y¥rusl

i :1 _f"'fl-hfl:



